
   

SAT PREP               Name _______________________________ 

Assignment : Vector and Vector Equation of line            Date ___________________ 

1. A line L passes through A(1, –1, 2) and is parallel to the line r = 
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s . Write down a vector 

equation for L in the form r =  a + tb. 

2. Line L1 passes through points A(1, –1, 4) and B(2, –2, 5). 

(a) Find AB . 
  

           (b) Find an equation for L1 in the form r = a + tb. 

 Line L2 has equation r = 
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(c) Find the angle between L1 and L2. 

          (d) The lines L1 and L2 intersect at point C. Find the coordinates of C. 
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(a) Find BC.   

(b) Find a unit vector in the direction of AB . 

4. Find the cosine of the angle between the two vectors 3i + 4j + 5k and 4i – 5j – 3k.  

5. Two lines with equations r1 = 
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t  intersect at the point P. Find 

the coordinates of P.  

6. The line L1 is represented by r1 = 
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The lines L1 and L2 intersect at point T. Find the coordinates of T. 

7. A triangle has its vertices at A(–1, 3), B(3, 6) and C(–4, 4). 

(a) Show that ACAB •  = –9. 

(b) Find CÂB . 
 
8. The line L passes through the points A (3, 2, 1) and B (1, 5, 3). 

(a) Find the vector AB . 

          (b) Write down a vector equation of the line L in the form r = a + tb. 



   

Answer to Assignment Vector and Vector Equation of line  
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(c)  θ = 0.906 (51.9˚)   

(d)  C is (–2, 2, 1)   
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(b) unit vector is 
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4. 
50
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5. P is (12, –3, 3) 
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6.       (1, 3, 0)   

7. (a) –9   

(b) CÂB  = 2.47 (radians), 125°  
  

8. (a)
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 (b) Using r = a + tb 
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